


e3T_1

X

—.1 2.5918
—.01 2.9554
—.001 2.9955
—.0001 |2.9995

—.00001 | 2.999955



e3T_1q

X

. 639;—1

—.1 2.5918
—.01 2.9554
—.001 2.9955
—.0001 |2.9995
—.00001 | 2.999955

.01
.001
.0001
.00001

3.4986
3.0455
3.0045
3.00045
3.000045



3x_1
X € >
—.1 2.5918
—.01 2.9554
—.001 2.9955
—.0001 |2.9995
—.00001 | 2.999955
Guess: |lim
x—0
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3.0455
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f(x) = sin (g)



x sin (g)

—.1 O
—.01 O
—.001 O
—.0001 |O
—.00001 | O




sin (g)

—.01
—.001
—.0001
—.00001

o O O O

sin (g)

.01
.001
.0001
.00001

© O O O



x sin (g) x sin (g)
—.1 0 1 0
—.01 0 .01 0
—.001 0 .001 0
—.0001 |0 .0001 |O
—.00001 | O .00001 | O

Guess: |Iim (sin (Z)) =0
x—0 T






